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Abstract: A distinction between control and non-control has been described across many Salish
languages (e.g., Thompson 1985; Bar-el et al. 2005). This paper builds on previous literature
discussing the difference between control and non-control in ?ay?ajubom (Comox-Sliammon), a
Central Salish language (e.g., Kroeber 1988; Watanabe 2003). We contribute original fieldwork that
confirms previous findings while also probing the event structure of control and non-control
transitives in more detail. Specifically, we confirm previous claims that predicates with the non-
control transitivizer entail culmination, while predicates with the control transitivizer do not entail
culmination, replicating tests for culmination from Watanabe (2003). We then probe event structure
with additional tests adapted from Bar-el (2005). We find that predicates with the control
transitivizer require the subject to have attempted to bring about the event described by the predicate,
but that there need not be any overt result. Adverbs and negation target event initiation with this
transitivizer. In contrast, predicates with the non-control transitivizer background the initiation of
the event, so that adverbs and negation cannot target the initiation or process independently, but
instead target the culmination of the event including any incremental change-of-state. We also
present new data showing that agent animacy and prototypicality are not strict criteria for the use of
control in ?ay?ajubom (as also discussed in Andreotti 2017; cf. Kroeber 1988; Bar-el et al. 2005).
Finally, we discuss how control and non-control predicates combine with viewpoint aspects.
Overall, this paper proposes an analysis where the semantic distinction between control and non-
control is largely centered on (non-)culmination, while the other meanings attributed to these
transitivizers arise pragmatically (as in Jacobs 2011).
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1 Introduction

Control and non-control in Salish have been a topic of scholarly discussion for decades (i.e.,
Thompson & Thompson 1971; Thompson 1985; Demirdache 1997; Bar-el et al. 2005; Gerdts &
Kiyosawa 2007; Jacobs 2011; Van Eijk 2011). This is also the case for ?ay?ajufom (Comox-
Sliammon) (J. Davis 1973, 1978; Kroeber 1988; Watanabe 2003; Andreotti 2017), where the
morphemes associated with these two labels are both transitivizers (1).! These combine with
unaccusative roots to create transitive predicates.? Most unaccusative roots can be transitivized with
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Elsie Paul, Freddie Louie, Betty Wilson, and Randolph Timothy. This work would not be possible without
their brave determination to keep their language alive. cecehatanapest! We would also like to thank members
of the ?ay?ajufom lab at UBC and Lisa Matthewson for helpful feedback. All errors are our own.

Contact info: marianne.huijsmans@ubc.ca, gloria.mellesmoen@ubc.ca
1 We follow Jacobs (2011) and Mellesmoen (2017) in assuming that the /x¥/ found with the non-control
transitive paradigm and a third person object in Central Salish languages is an overt third person object suffix
-x*, though note that this is treated as part of the transitivizer itself in other descriptions. Additionally, we
label the aspectual C; reduplication process (discussed in Section 9) as progressive, rather than imperfective,
to better reflect its semantic contribution (cf. H. Davis et al. 2020).
2 More rarely, the non-control occurs following the middle or causative suffix (Watanabe 2003:220, 230).
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either transitivizer (Watanabe 2003:202) with corresponding (often subtle) differences of
interpretation.®

1) a tog-t b. tog-o-x¥
get.closed-CTR get.closed-NCTR-30BJ
‘close it’ ‘have closed it (Watanabe 2003:213)

For ?ay?ajuBom, it has been claimed that predicates with the control transitivizer do not entail
culmination, while non-control transitivizers do (e.g., Davis 1978:237; Watanabe 2003:204), and
that, in addition, non-control transitives are often associated with events that are accidental or
accomplished with difficulty, but that cases are also found where the non-control transitivizers are
for events accomplished with intention and ease (e.g., Watanabe 2003:212; Andreotti 2017:3).
Though the generalizations proposed in previous literature are largely descriptive, the original
fieldwork we present in this paper supports these generalizations and allows us to probe the event
structure involved with each of these transitivizers in more detail.

1.1 Overview of the paper

In this paper, we provide a brief summary of the literature (Section 2.1), followed by a discussion
of the function of control and non-control (Section 2.2) in Comox-Sliammon. In Section 3, we first
examine the two transitivizers and whether they entail culmination, replicating findings from
previous literature (Watanabe 2003; Andreotti 2017). We then turn to the interpretation of control
and non-control transitives in the scope of cigitam ‘almost’ (Section 4) and under negation (Section
5). While these tests give rise to event cancellation readings for both control and non-control
transitives, varying the context shows that both cigitom ‘almost’ and negation target event initiation
in combination with control transitives, while they target the entire final transition including any
incremental change-of-state in combination with non-control transitives. We then turn to adverbs
of rate (Section 6), which target the entire event for both control and non-control transitives. We
then present data showing that the external argument does not always need to be agentive for the
control transitivizer to be used felicitously (Section 7). In Section 8, we synthesize the observations
from the preceding sections in order to provide a formal analysis of each transitivizer. Finally,
Section 9 explores the interpretation and compatibility of the two transitivizers with progressive
and perfective viewpoint aspect. Ultimately, we conclude that the distinction between the control
and non-control transitivizers in Comox-Sliammon lies in their aspectual differences with respect
to entailing culmination, while observations about agentivity and intentionality arise pragmatically
in part through competition between the two forms.

Before moving into the discussion of previous literature, we include a brief note on the
terminology included in this paper.

3 The other two transitivizers found in the language, the -¥s and the causative, have quite different
distributions. The -¥’s transitivizer is lexically restricted to occur with only a small set of roots, while the
causative is not generally used to transitivize unaccusative roots (an exception being Jactsx ¢ put to sleep’
from Zact “fall asleep’, Watanabe 2003:223), but rather to transitivize unergatives, statives and a number of
other types of stems that are morphologically complex.
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1.2 Terminology

This paper focuses on two suffixes in ?ay?ajufom, the control and non-control transitivizers.
Transitivizers take an intransitive verb and make it transitive. An intransitive verb is a verb with
one participant (individual involved in the action): sleep is an intransitive verb because it has just
one participant — the person sleeping. Melt can also be an intransitive verb: the ice melted. jey»
‘melt’ in ?ay?ajubom is also intransitive (2a). Transitive verbs are verbs with two participants, the
one doing the action and the one affected by the action. Like many verbs in English, melt can be
used as a transitive without any change: | melted the butter. In | melted the butter, the doer is I, the
speaker, and the thing affected by the action is the butter. Unlike in English, in ?ay?ajufom, the
form of a verb changes when it goes from intransitive to transitive. For instance, in (2b), the suffix
-at is added to the in-progress verb jejey ‘melting’. This makes it transitive. For this reason, the -at
suffix is known as a transitivizer. At the end of the transitive verb, ¢ ‘I’ is added marking the
subject, the doer of the action.*

2 a Intransitive
Jejex™ to pata.
ja~jaxv to=pata
PROG~get.melted DET=butter
‘The butter is melting.’ (vf| EP.2021/07/16)
b. Transitive
jejeyrate to pata.
ja~jaxv-at=¢ to=pata
PROG~get.melted-CTR=1SG.SB] ~ DET=butter
‘I am melting the butter.’ (vf| EP.2021/07/16)

When the one participant of an intransitive verb is affected by the action, the verb is known as an
unaccusative verb. Intransitive melt in English and jey* ‘melt’ in ?ay?ajubom are both
unaccusative.

We also frequently discuss event initiation and event culmination in this paper. Event initiation
refers to the beginning of the event. With transitive verbs, the initiation occurs when the doer starts
the action. Event culmination refers to the endpoint of the event. The endpoint for melt, for
instance, is the point at which the affected participant, e.g., the butter, is entirely melted. Finally,
the term progressive is used for the ‘in progress’ form of the verb, such as jejey™ ‘melting’, while
perfective refers to the base form, such as jey™ ‘melt’.

4 The abbreviations in this paper follow the Leipzig Glossing Rules with the additional abbreviations: AUT
‘autonomous’, CLDEM ‘clausal demosntrative’, CTR ‘control transitivizer’, CONJ ‘conjunction, DPRT
‘discourse particle’, IND ‘indirective’, INT ‘intensifier’, NCTR ‘noncontrol transitivizer’, QUEX ‘quexistential’,
and STAT ‘stativizer’. Throughout this paper, the top line of examples is in the orthography, the second line
shows underlying forms with morpheme breaks in APA, the third line presents the glosses, the fourth line is
the translation. ‘vf* stands for ‘volunteered form’, a form produced by the speaker, while ‘sf’ stands for
‘suggested form’, a form produced by one of the two authors and evaluated by the speaker.
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2  Previous descriptions of control and non-control in Salish linguistics
2.1 Control and non-control in Salish

The distinction between control and non-control in Salish is largely based around early work by
Thompson and Thompson (1971), Carlson and Thompson (1982), and Thompson (1985). J. Davis
(1973:10) follows Thompson and Thompson’s (1971) work on control in Clallam and states that
control in Comox-Sliammon “implies that the action was done easily, with full control by agent”.
J. Davis (1973) distinguishes the control transitivizer from a “responsibility” transitivizer, which is
associated with a “lack of control”. The notion of responsibility comes from Thompson and
Thompson (1971), which J. Davis (1973:11) describes as meaning “an entity is responsible in at
least some measure for a situation or activity, but is not in control”. Several years later, J. Davis
(1978:237) hints at the importance of culmination and its role in the non-control and control
distinction (in a note in the appendix of his paper). He further refines the possible translations of
control transitives to include “try to”, while emphasizing that non-control transitives describe an
action that is accomplished.

Kroeber (1988:156-156) references unpublished work by John Davis, noting that non-control
transitives tend to imply that completion has been achieved, while control transitives do not:
“control may imply a failed attempt, while non[-]control tends to imply success and completion”.
He highlights that the control and non-control transitivizers in Comox-Sliammon encode valency
and aspect. Control marks the subject of a transitive verb as a “prototypical agent”; this subject has
a desire for the event to occur and is able to undertake the event. Kroeber (1988) discusses the
subject of a non-control transitive as a departure from a “prototypical agent”, noting that the event
may be accidental or involve difficulty. This description fits the general tone of the literature: the
control transitivizer is centred as a default, while the non-control is an alternative. This perspective
is echoed by Watanabe (1996:3), who suggests that the contrast between control and non-control
might be more accurately defined as a distinction between “neutral and non[-]control”.

Like ?ay?ajufom, Skwxwua7mesh (Squamish) has an opposition between two transitivizers
labelled control and non-control. Bar-el (2005) proposes that predicates transitivized with the
control transitivizer in Skwxwu7mesh imply, but do not entail culmination. For the control
transitives, an initiating event is encoded, and this initiating event leads to culmination under usual
circumstances (in all inertia worlds), unless the unfolding of the event is disrupted. She treats non-
control transitives as achievements (though she does not investigate these separately from other
achievement predicates in the language), encoding a simple culminating event without an initiating
event or process component. In arguing for these two different representations, she uses a variety
of tests for event culmination, including explicit cancellation, compatibility with event
continuation, and targeting the endpoint with kilh ‘almost’ and negation. We adapt a number of
these tests in the following sections.

Kiyota (2008) also proposes the same distinction between control and non-control transitives
in SENCOTEN (Saanich, Northern Straits Salish), adopting the culmination cancellation and
‘almost’ test from Bar-el (2005). Bar-el et al. (2005) also take the same approach in the analysis of
control transitives in both Skwxwia7mesh and St’at’imcets (Lillooet, Northern Interior Salish).
Jacobs (2011) builds on Bar-el (2005) and Bar-el et al. (2005), confirming the previous findings
for control transitivizers in Skwxwta7mesh and expanding the documentation of non-control
transitives (as well as investigating control and non-control unergative and reflexive suffixes). He
finds that non-control transitives, unlike control transitives, entail culmination. He then discusses
the range of readings associated with both the control and non-control transitivizers and proposes
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that the opposition between the transitivizers contributes to bringing about these readings. He points
out that most predicates can be transitivized with either the control or non-control transitivizer.
Control transitivizers encode event initiation and assert that the event culminates given a normal
course of events. Non-control transitivizers encode event culmination but nothing about whether a
given course of events is normal. The contrast between control and non-control means that non-
control transitivizers may be associated with a course of events that is not normal, such as when
the culmination is accidental or is only managed with difficulty.

2.2 Control and non-control in 2ay?aju@am (Comox-Sliammon)

Watanabe (1996) addresses the labels “control” and “non-control” in Comox-Sliammon and notes
that it is not enough to appeal to a distinction between volition and non-volition, which had been
done previously in the literature. He states that control refers to an action that is intentional and
both under the control of the actor and within their competence to undertake. The non-control
transitivizer is discussed as “opposed to the control”, and thus the non-control transitivizer is
associated with unintentionality and actions that may only come to completion with difficulty
(Watanabe 1996:2-3). This constellation of functions across the two transitivizers is, as Watanabe
(1996) indicates, greater than just a split between volition and lack of volition. While the control
transitivizer is used when an event is intentional or controlled by an agent, it does not need to reach
the point of completion, and further, while the non-control entails that an event is completed, it
does not need for an agent to intend for the eventual outcome or to have much control over the
event (Watanabe 1994). Watanabe (2003:204-205) further specifies that the non-control requires
the “completion or actualization of an event” and that it is considered contradictory to cancel this
culmination. This contradiction does not arise when the culmination of a control transitive is
cancelled.

In a more recent treatment of control and non-control transitivizers, J. Davis (2012) re-labels
them as markers of “intent” and “result”, respectively, which he argues are more appropriate for
their function in Comox-Sliammon. He suggests that control is “an inaccurate and misleading
label” because the control transitive -t may be used for something that an agent undertakes but ends
up as an unsuccessful attempt or something outside of the control of the subject (J. Davis 2012:36).
In a similar vein, the non-control transitivizer does not need an event to be accidental or out of the
control of the agent: it may be done intentionally and with varying degrees of effort.’

Andreotti (2017) analyzes both the control and non-control transitivizers in Comox-Sliammon,
arguing that an aspectual analysis such as that proposed in Watanabe (2003) and Jacobs (2011) is
not sufficient to capture all aspects of the meaning of control and non-control predicates, but that
an analysis that takes control to be a semantic primitive as in Bar-el et al. (2005) is too strong for
?Pay?ajubom, as it wrongly predicts that control never occurs with inanimate subjects or accidental
events. Instead, he takes up the idea of “prototypical” agents from Kroeber (1988), arguing that the
control transitivizer requires a “prototypical” agent and the non-control transitivizer requires a
“non-prototypical” agent. Since prototypicality exists on a cline, the existence of counterexamples
to agent control with the control transitivizer are not considered problematic and the general
preference for volitional agents with control transitivizers and non-volitional agents with the non-
control transitivizers is captured. However, as Andreotti points out, under this analysis, the
relationship between control and event initiation, and also between non-control and event

° Davis (2012:38) states that “the context disambiguates intent and degree of effort” for non-control
predicates.
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culmination, is purely accidental. This is reflected in the denotations in (3) and (4). Briefly, the
denotation provided in (3) for the control transitive means that a control transitive predicate will
encode event initiation by a prototypical agent leading to culmination in all inertia worlds — that
is, if things proceed normally or stereotypically. Culmination is not entailed, however, since it is
always possible that the event does not take its normal course. The denotation given in (4) means
that a predicate with the non-control transitivizer encodes an initiating event by a non-prototypical
agent which culminates in the actual world. The (non)prototypicality of the agent and event
(non)culmination are independent components of the analysis that are not related.

(3) [CTR]™ = AP, vy - AXe . Aeyv. TPAgent(e,x) in w A D,W,{T(e_w) Je' P(w',e") A Cause(e,e’) in w'
(4) [INCTR]™=APyyz. A% . Aev. IPAgent(e,x) inw A Je' P(e") A Cause(e,e’) (Andreotti 2017:9)

Andreotti’s analysis also does not predict any difference in terms of the acceptability of the
progressive with control and non-control transitives, but in fact the combination of non-control
transitives with the progressive is quite restricted, as shown in Watanabe (2003:206-208) and
confirmed in our own fieldwork (see Section 8). In contrast, the control transitivizer can freely
combine with the progressive. We therefore take a different approach to analyzing the control and
non-control transitivizers where the prototypicality of the agent is not encoded but arises via
implicature due to differences in the structure of the event encoded by predicates with control and
non-control transitivizers.

2.3 Main claims

Following previous literature (e.g., Bar-el 2005; Bar-¢l et al. 2005; Kiyota 2008; Jacobs 2011), we
argue that a predicate with the control transitivizer in ?ay?ajufom encodes the initiation but not
completion of an event. We will show that an event must have been attempted for a control
transitive to be used, but this attempt need not have had any perceivable effect. When targeted by
higher semantic operators, it is the initiation rather than the completion of the event that is targeted.
Under negation and cigitom ‘almost’, we get a reading that the event has not (yet) been initiated.
Because the control transitivizer foregrounds the initiation of the event, it is typically used when
there is an intentional agent undertaking the event. However, since it is possible to use the control
transitivizer without an agentive subject (as in Skwxwua7mesh, see Jacobs 2011:3, (3a)), we propose
that the agentivity arises through implicature.

Predicates with the non-control transitivizer, on the other hand, entail culmination (Watanabe
2003; Bar-el 2005; Kiyota 2008; Jacobs 2011) and background the internal structure of the event.
Under negation and cigizom ‘almost’, we get a reading that the event did not occur, either because
the subject accidentally failed to realize it or did not manage to bring it about. While this result is
an event cancellation reading as for the control transitives (Bar-el 2005), the contexts in which each
transitivizer is felicitous with these operators differ. We propose an analysis of the non-control
transitivizer where the action of the subject is backgrounded through existential closure while the
entire culminating event contributed by the unaccusative predicate, including any incremental
change-of-state, remains in the foreground. We then show how the analysis of the control and non-
control transitivizers proposed here is consistent with the interpretation and restrictions found when
these transitivizers are combined with the progressive and perfective aspects.
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3 Culmination

Perfective predicates with the control transitivizer in ?ay?ajubom do not require a successful
completion of the event. This was discussed previously in J. Davis (1978) and Watanabe (2003)
and we replicate the finding here (5-7). We find that predicates with the control transitivizer do not
even require the event to have any tangible result (6-7).

(5) Context: Gloria was cooking some meat for a stir fry. When it was partially cooked, the
power went out.

Ceyatos to myji0 21 x%a? ?ot hojuxvas. 7;akw
&ox-at-as to=mojob  ?iy x“a?=?ut  huj-o-x%-os. Aakv
COOK-CTR-3ERG DET=meat CONJ NEG=EXCL finish-NCTR-30BJ-3ERG go.0ut

to nikVayu.

to=nik“ayu

DET=lights

‘She cooked the meat, but she wasn’t able to finish it. The lights went out.’
(sf | BW.2020/07/03)

(6) Context: Gloria was trying to cut up some material, but her scissors turned out to be too dull
and weren’t cutting it at all.

laynes Se kipayes  Gloria. kiptes Se yewap i x“a?
tox-nis §e=l’<9paya-s Gloria Rap-t-as So=yawap 2y x%a?
bad-tooth DET=scissors Gloria get.cut-CTR-3ERG ~ DET=material CONJ NEG
cemas ?1 kip.
Com=as 2y kop

QUEX=3SBJV CONJ get.cut
‘Gloria’s scissors are dull. She cut the material, but it wouldn’t cut.’
(sf | FL&HT.2021/07/12)

(7)  Context: Marianne was planning to rip up a cover to make a rug. She tried to rip the cover,
but the material was too strong, and she couldn ’t.

hehew Xaxaietstom Malian. poapytos ?i x%a?
hihiw  xa~xak-it-stu-m Malian pa~py-t-as 2y xVa?
really PROG~want-STAT-CAUS-PASS Malian PROG~rip-CTR-3ERG CONJ NEG
cemas pay.
Com=as pax

QUEX=3SBJV  rip
‘Marianne was having difficulty. She was ripping the cover, but it wouldn’t rip.
(vf| BW.2020/07/15)

Preliminary evidence suggests that, though control transitive predicates do not require the attempt
to have any effect, they do require the event described by the predicate to have been attempted; the
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event cannot be simply planned (8-9).°

(8) Context: Gloria had been busy all day, but she finally got her pot out and her package of
instant noodles. Just as she was about to cook, her phone rang, and she had to take the call.
#ésxates Se noodles 21 x%a? ésxoxwas.
Sox-at-os $o=noodles 21 x¥a? &ox-0-x-as
COo0K-CTR-3ERG DET=noodles CONJ NEG c00k-NCTR-30BJ-3ERG
‘She cooked the noodles, but she didn’t cook them.

5
x

Consultant’s comment: “Ceyatos indicates that she’s cooked it.” (sf | BW.2020/07/03)

(9) Context: Marianne was going to cut out some paper shapes to make a card. She had
the paper and scissors ready and was about to start when visitors walked in preventing
her from starting. .

# kiptom ?0 Malian  to pipa 21 x"a? Kipux“os.

kop-t-om ?o=Malian  to=pipa 2y x*a? kop-o-x"-as
get.cut-CTR-PASS OBL=Malian DET=paper CONJ NEG get.cut-NCTR-30BJ-3ERG
‘Marianne cut the paper, but she didn’t cut it.’
Consultant’s comment: “kiptom means that Malian is cutting it.” (sf| BW.2020/07/03)

Unlike predicates with the control transitivizer, predicates with the non-control transitivizer do
require culmination of the event described by the predicate (10-11).

(10) Context: Gloria was cooking some meat for a stir fry. When it was partially cooked,
the power went out.
# &eyoxvos to myj10 ?i x¥a? ?0t hojuxvas.
dox-0-x"-as to=majob  ?iy x¥a?=?ut  huj-a-x%-as
COOK-NCTR-30BJ-3ERG DET=meat CONJ NEG=EXCL finish-NCTR-30BJ-3ERG
Xak™  to nikvaye.
Aak¥  to=nikvaya
go.out DET=lights
‘She cooked the meat, but she wasn’t able to finish it. The lights went out.’
Consultant’s comment; “¢

x

Ceyuxvas indicates she got it cooked. ” (sf | BW.2020/07/03)

(11) Context: Gloria was trying to cut up some material, but her scissors turned out to be too dull
and weren’t cutting it at all.

# laynes Se kipayes Gloria. l:qpoxwas Se yewop
toy-nis So=kopaya-s Gloria kop-o-x*-as So=yawap
bad-tooth DET=scissors-3P0ss Gloria get.cut-NCTR-30BJ-3ERG ~DET=material

21 x%a? Cemas el kip.
2y  xva? Com=as 21y  kop

CONJ NEG QUEX=3SBJV CONJ get.cut

‘Gloria’s scissors are dull. She cut the material, but it wouldn’t cut.’
(sf | FL&HT.2021/07/12)

% To be completely parallel with the felicitous examples in (5-7) above, the examples in (8) and (9) should
also be elicited with an unaccusative predicate in the second conjunct. We have no reason to think that this
would improve them, however.
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The contrast between control and non-control transitives with respect to culmination corresponds
to differences in interpretation when these predicates are targeted by the adverbial cigitom ‘almost’
and negation x*a?. These contrasts are examined in the following two sections.

4 Interpretation with é&gitam ‘almost’

Following Bar-el (2005), we adopt adverbial modification with cigitom ‘almost’ as a test for initial
and final points. ¢igitam ‘almost’ targets the initiation of an event with a control transitivizer, giving
rise to an interpretation where the event is about to be initiated (12). cigitom typically targets the
whole event with a non-control transitivizer, giving rise to an ‘almost accidentally did x’ or ‘almost
managed to do x’ reading (13). With some predicates, it is also possible to get an ‘almost finished
x’ reading, where the final stage of the transition is targeted, but this is much more restricted (14).
Typically, speakers either add 2uk» “all’, giving rise to a reading where almost all of the theme has
been affected/used up (15), or switch to using the predicate hojux> “finish s.t.” instead (16).

(12) Inastoryboard, Daniel gets a piece of paper and a pencil to start a letter to Bruno.
cigitom nam?omtas.
¢ogotom nam-?om-t-os
almost  write-IND-CTR-3ERG
‘He’s about to write to him.’ (sf | BW.2020/08/12)

(13) In a storyboard, Daniel was about to start writing a letter to Bruno when Laura asks to
borrow Daniel’s pen, preventing him from writing the letter.
cigitom nam?omux¥as.
Cogotom nam-?om-9-x%-9s
almost  write-IND-NCTR-30BJ-3ERG
‘He almost got the chance to write to him.’ (sf | BW.2020/08/12)

(14) Context: In a storyboard, Felipe calls Marianne for help rescuing a kitten from a tree.
Marianne leaves the stove on and the soup nearly cooked. Gloria comes and turns it off, so
it doesn’t finish cooking. This is said to describe the situation:

cigtom  Ceyux“es to q¥oqvalk™u.

Gogotom  &ox-o-x¥-as to=q“uqvatkvu

almost c00K-NCTR-30BJ-3ERG  DET=souUp

‘She almost had the soup cooked.’ (sf | BW.2020/07/03)

(15) Context: I catch my dog eating a cake we left out. There’s only a little bit left.
a. # Gigtom  moukvuxves.
Cogotom  mok“-9-x%-as
almost ~ eat-NCTR-30BJ-3ERG
‘He almost ate it.” (sf | EP.2021/07/16)
b. Volunteered instead:
cigom  uk™ mokVux¥as.
Cogotom  ?Powk™  mok¥-o-x¥-os
almost all eat-NCTR-30BJ-3ERG
‘He almost ate it all.’ (vf| EP.2021/07/16)
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(16)

Context: Gloria is almost finished painting her house.

a. ?7?cdigitom  jukVuxvos to Paye?s.

Cogotom  jok¥-o-x¥-as to=?aya?-S

almost paint-NCTR-30BJ-3ERG  DET=house-3P0SS

‘She’s almost painted her house.’ (sf| EP.2019/05/12)
b.  Volunteered instead:

kvi ¢igtom  hojux“as.

kvi Cogotom  huj-o-xv-as

CLDEM  almost  finish-NCTR-30BJ-3ERG

‘She’s almost finished it.’ (vf| EP.2019/05/12)

With the control transitivizer, cigitom ‘almost’ can only give rise to ‘about to start’ readings. It
is not possible to get an ‘almost finished’ (17), ‘almost accidentally did x’, or ‘almost managed to’
reading (18-20) for this combination. The non-control transitivizer must be used instead for these

readings.
(17) Context: In a storyboard, Felipe calls Marianne for help rescuing a kitten from a tree.

Marianne leaves the stove on and the soup nearly cooked. Gloria comes and turns it off.

# Cigitom  Ceyatos to q¥oqvalk™u.

Cogotom  Cox-at-as to=q~uqvaitkvu

almost co0k-CTR-3ERG ~ DET=soup

‘She almost had the soup cooked.” (cf. 12 above) (sf | BW.2020/07/03)
(18) Context: A piece of plastic somehow fell into the soup. Gloria almost accidentally ate it but

(19)

(20)

noticed in time.

Gigtom  {moukvuxvas / #mukvtos}.

Cogotom  {mok"-o-x“-as / #mokv-t-as}

almost  {eat-NCTR-30BJ-3ERG / eat-CTR-3ERG}

‘She almost accidentally ate it.’ (sf | EP.2021/07/16)

Context: Gloria was making a craft project using scissors and almost accidentally cut her
shirt.

cigitom {1:<1p0xwas / #f(tp,tss}.

Cogotom  {kop-o-xv-as / #kop-t-as}

almost  {get.cut-NCTR-30BJ-3ERG / get.cut-CTR-3ERG}

‘She almost cut it.” (sf | EP.2021/07/16)

Context: A bird got loose in the house, and | almost managed to catch it to put it outside, but
it got away from me.

cigitom¢ {ma?ax¥ / #mat}.

Cogotom=¢ {ma?-a-x"/ ma?-t}

almost=1sG.sBJ  {get-NCTR-30BJ / get-CTR}

‘I almost got it.’ (sf | EP.2021/07/24)

Similarly, it is not possible for cigizom with a non-control transitivize to get an ‘about to start’

reading (21-22). Instead, a control transitive must be used.
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(21) Context: My niece is about to open her gift. | tell Felipe to get his attention, q“aga kvot

‘Come see...”:

kvi &igitom {goqtos / #ga?qux™as}.

ki Cogotom  {goq-t-as / gog-o-x¥-as}

CLDEM almost {open-CTR-3ERG / 0pen-NCTR-30BJ-3ERG}

‘Come look, she’s about to open it.’ (sf | EP.2021/07/24)
(22) Context: | made Freddie a cake. He sits down with a piece, and Gloria calls me over to see

how he likes it.

Gigitom  {fa?atos / ta?ax“os} to kiks.

Gogotom  {fa?-at-as / ta?-o-x"-as} to=kiks

almost  {try-CTR-3ERG / try-NCTR-30BJ-3ERG DET=cake

‘He’s about to try the cake.’ (sf | EP.2021/07/24)

These observations regarding cigitom ‘almost’ with the control and non-control transitivizers
are consistent with the finding that the control transitivizer entails only event initiation, while the
non-control transitivizer entails event culmination. It is somewhat unexpected, however, that an
‘almost completed x’ reading is not freely available with the non-control transitivizer given that it
encodes event completion. We return to this in Section 9.

5 Interpretation with negation

Under negation, predicates with the control transitivizer give rise to an interpretation where the
event has purposefully not been attempted (23). In contrast, predicates with the non-control
transitivizer under negation give rise to a reading where an agent was unsuccessful in bringing
about the event or accidentally forgot to attempt it (24).

(23) Context: She had planned to cook a fish but decided not to cook it after all.

x“a? éexates to jenx™.

xva? &ox-at-as to=janx"

NEG COOK-CTR-3ERG  DET=fish

‘She didn’t cook the fish.’ (sf | BW.2020/07/15)

(24) Context: She was unable to cook the fish because the oven broke.

x“a? éexuxwas to jenx™.

xva? &ox-o-x-as to=janx"

NEG COOK-NCTR-30BJ-3ERG DET=fish

‘She didn’t cook the fish.’ (sf| BW.2020/07/15)

Control transitivizes are felicitous with negation where the subject purposely does not attempt the
event described by the predicate, but cannot be used when the event is accidentally not
accomplished (25-26).
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(25) V Context 1: There’s a recipe that calls for melted butter, but I decided not to melt the butter
on purpose because | wanted to try the recipe that way.
X Context 2: | forgot to melt the butter for the recipe and my baking didn 't turn out.

x"ad jey~atanot Se pata.

xVa?=¢ jaxv-at=an-?ul So=poto

NEG=1SG.SBJ melt-CTR=1SG.SBJV-PST  DET=butter

‘I didn’t melt the butter.’ (sf| EP.2021/01/29)

(26) v Context 1: | had originally planned to cook a fish tonight, but then Felipe brought home
sausages that needed to be cooked right away, so | decided to keep it for tomorrow.
X Context 2: | was supposed to cook a fish and make a salad tonight for a potluck
tomorrow. I make the salad but forget to put the fish in the oven.

¢kva xVa? Ceyaton Se jenxv,
¢=kva xva? Cox-at=an So=janx¥
1SG.SBJ=CLDEM NEG get.cooked-CTR=1SG.SBJV DET=fish
‘I didn’t cook the fish.’ (sf | EP.2021/07/16)

Similarly, negation with non-control transitives is felicitous where the subject accidentally fails to
bring about the event because she forgot, but is infelicitous when the event is purposefully not
attempted or initiated (27-28).

(27) X Context 1: There’s a recipe that calls for melted butter, but | decided not to melt the butter
on purpose because | wanted to try the recipe that way.
v Context 2: | forgot to melt the butter for the recipe and my baking didn 't turn out.

xval jeyroxvanot Se pata.

xVa?=¢ jaxv-a-x¥=an-?ul So=pata

NEG=1S.SBJ melt-NCTR-30BJ=1S.SBJV-PST DET=butter

‘I didn’t melt the butter.’ (sf | EP.2021/01/29)

(28) X Context 1: I had originally planned to cook a fish tonight, but then Felipe brought home
sausages that needed to be cooked right away, so | decide to keep it for tomorrow.
v Context 2: | was supposed to cook a fish and make a salad tonight for a potluck tomorrow.
I make the salad but forget to put the fish in the oven.

¢kva x%a? Ceyux“en Se jenxV.
¢=kva xva? &ox-o-x"=an So=janx¥
1SG.SBJ=CLDEM NEG get.cooked-NCTR-30BJ=15G.SBJV DET=fish
‘I didn’t cook the fish.’ (sf | EP.2021/07/16)

The difference between the non-control and the control transitivizers under negation also relates to
the aspectual properties of the two transitivizers. Negation of a control transitive predicate results
in a reading where the event was not initiated, which entails that the entire event has not occurred,
but backgrounds the cancellation of the culmination. Focus on cancelling event initiation is
felicitous when discussing an individual’s decision not to attempt it, but infelicitous when the focus
is on the absence of the desired or expected outcome of the event which is tied to its culmination.
Negation of a non-control transitive predicate results in a reading where the complete event did not
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occur. This is consistent with both a reading where the event was unsuccessfully attempted but not
accomplished and where the subject failed to even attempt to bring about the event (e.g., because
they forgot about doing it).

6 Adverbs of rate

Given that control transitive predicates encode event initiation while non-control predicates encode
event culmination, it is possible that adverbs of rate could target just the initiating event or process
with control transitives. This is not the case, however. While both control transitives and non-
control transitives are compatible with adverbs of rate, the adverbs of rate do not seem to be able
to target just the process with either transitivizer (29-30).

(29) X Context 1: There was a leak under my sink. The man who came to fix it worked quickly, but
the problem was complicated, and it took a while for him to finish.
v Context 2: There was a leak under my sink. The man who came to fix it was rather slow,
but the problem was simple, and the job was still quickly over.

a. Aemot pape?-ux“as.

Xi-mut papi?-o-x"-os

quickly-INT  fix-NCTR-30BJ-3ERG

‘He fixed it quickly.’ (sf| BW.2020/10/01)
b. ZAemot papetas.

Xi-mut papi-t-os

quickly-INT  fix-CTR-3ERG

‘He fixed it quickly.’ (sf| BW.2020/10/01)

(30) X Context 1: The mouse ate quickly, but it was a big cake, so it took the mouse a while to
finish it.
v Context 2: Roger eats rather slowly, but it was just a small cupcake that he was eating, and
it was gone quickly.

a. Aemot mouk¥ox“as kiks.

Ai-mut mok"-9-x"-0s kiks

quickly-INT  eat-NCTR-30BJ-3ERG cake

‘He ate the cake quickly. (sf | BW.2020/10/01)
b. Zemot muk“tos kiks.

Ai-mut mok»-t-os kiks

quickly-INT eat-CTR-30BJ-3ERG  cake

‘He ate the cake quickly. (sf | BW.2020/10/01)

In these examples, the adverbs target the incremental change-of-state that leads to culmination, but
cannot target the process component — the activity of the agent — on its own. This is surprising
for the control transitives, since they do not entail that the final change-of-state occurs. Of course,
it is difficult to tease apart the process from the change-of-state since they are typically
incrementally related (Rothstein 2004), so this requires further investigation. The compatibility of
the adverbs of rate with the non-control transitives suggests that non-control transitives involve a
process component that can unfold quickly or slowly rather than encoding only an instant of final
transition. We return to this in Section 9.
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7  The control transitivizer and agentivity

While control transitives are typically used with an animate and intentional agent, this is not
required for felicitous use of the control transitivizer. Particularly when passivized, the control
transitivizer can be used without implying participation of an agent (31-34).’

(31) gaymot qvolay qwoi q“oltom.
gaymut  qvel-ay gq*el  gvel-t-om
lots-INT ~ washed.up-tree  come washed.up-CTR-PASS
‘A lot of driftwood got washed up.’ (vf| FL.2019/04/01)
(32) Context: | went wading in the river and the current washed my flipflop away.
ho¢ q“~oq*tomot qotom. tusiniyis¢
hu=¢ q*u<q*>t-um-2ut qvatom  tu-Son-iyis=¢
go=1SG.SBJ wade<DIM>-MD-PST river lose-foot-AUT=15G.SBJ
hoy giq“etom to qvotom.
huy giq*-it-om to=q~atom

and drift-CTR-PASS  DET=river
‘I went wading in the river. I lost my shoe and the river washed it away.’
(sf| FL.2021/06/07)

(33) Context: We had the door open to increase airflow on a hot day. The door closes suddenly
with a crash. Since | saw it happen, | call out to reassure you:

?1 ?ot. puhotom to Pemen  ?i toq.

oy="2ut puh-ut-om to=?imin  ?iy  toq

good=EXcL blow-CTR-PASS  DET=door CONJ get.closed

‘It’s ok, the door got blown and it shut.’ (vf | EP.2021/06/12)
(34) Context: We had the door open to increase airflow on a hot day. The door closes suddenly

with a crash.

kva? say pu?am ?i toqtas to Pemen.

kva? say pu?am ?iy toq-t-as to=?imin

get.strong extreme wind CNJ close-CTR-3ERG DET=door

‘A strong wind came up and closed the door.’ (sf | FL.2021/06/07)

For this reason, the agentivity of the external argument cannot be hard-wired into the semantics of
the control transitivizer, though the aspectual properties of the control transitivizer mean that it is
typically associated with agentive external arguments.

7 We have not checked whether culmination can be cancelled with control transitives that have non-agentive
subjects. The Agent Control Hypothesis (Demirdache & Martin 2015) would predict that non-culminating
readings are only possible with agentive subjects. See also Martin and Schéfer (2014) for discussion of the
connection between agentivity and non-culmination.
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8 Analysis of the control and non-control transitivizers

Having confirmed findings from literature and established some additional facts about event
structure for control and non-control transitives, we now turn to an examination of the semantic
contribution of the two transitivizers. As noted in the introduction, both types of transitivizer
combine with unaccusative bare roots. These entail culmination (e.g., Bar-el et al. 2005, Huijsmans
& Mellesmoen 2021). In what follows, we will argue for an analysis where the non-control
transitivizer retains this culmination requirement, while the control transitivizer lifts it.

Control transitives encode an initiating event undertaken by the subject that leads to successful
culmination in all inertia worlds. We formalize this in (35) using a denotation that is slightly
adapted from the one proposed by Bar-el et al. (2005:8). The control transitive combines with an
unaccusative root whose argument (the internal argument) is saturated and adds an external
argument. It encodes that the external argument performs an event e at the reference time t in w
that causes e’, the event denoted by the unaccusative predicate, in all inertia worlds w’ with respect
to the actual world w at the beginning of e. The DO predicate we employ is not meant to imply
agentivity, but rather that its argument x exerts force (rather than being acted upon).

(35) [CTR] = Af €Dy sy -Ax.2e [DO(e)(x)(W) A vw'[w' is an inertia world

w.r.t w at the beginningof e — 3e’ [f(e")(W") A e causes e’ inw']]]
(I = events; Intensional Functional Application is used)

The denotation in (35) captures the fact that control transitives do not entail culmination but do
require an initiating event be performed by the subject. They also strongly implicate culmination
since culmination is claimed for all inertia worlds. For this reason, predicates with the control
transitive can still be used for events that culminate, particularly when the doing of the event, rather
than its effect on the world, is in focus. Because the event needs to lead to successful culmination
in all inertia worlds, the initiation is typically undertaken by an intentional agent with the ability to
‘control’ the outcome of the event. Since agentivity is not encoded as part of the core semantics,
however, we also predict the possibility of non-agentive subjects.

For the non-control transitivizer, we need to capture the fact that it entails culmination and is
often associated with events done accidentally or with difficulty. We propose the denotation in (36)
to capture this set of properties. Like the control transitivizer, the non-control transitivizer combines
with an unaccusative predicate f with a saturated entity argument (the internal argument) and adds
an external argument x. It then encodes that there is an event involving the external argument that
causes e, the event described by the unaccusative predicate, in w. Since the unaccusative predicate
is claimed to be realized in the actual world w, the denotation entails culmination. The participation
of the external argument is backgrounded since the initiating event associated with the external
argument is existentially closed.

(36) [NCTR] =Af € D sey)-Ax.Ae.Aw.3e' [DO(e")(x) A f(e)(w) Ae' causeseinw]

The association of the non-control transitivizer with accidental events or events accomplished with
difficulty arises through the backgrounding of the agent and foregrounding of the culmination of
the event. This results in an accompanying indirectness between the participation of the agent and
the bringing about of the event described by the unaccusative root. Unlike with the control
transitivizer, the event performed by the agent need not lead to the successful completion of the
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event described by the unaccusative predicate in all inertia worlds — it is not necessarily the
prototypical outcome — but does lead to the culmination in the actual world.®

Since most unaccusative roots can be transitivized with either transitivizer, we propose that
pragmatic effects associated with the choice of one of the transitivizers over the other play a role
in giving rise to these implicatures (see also Jacobs 2011). The control transitivizer encodes the
initiation of the event, bringing the action of the subject, typically an agent, to the foreground, and
encoding that this action brings about culmination in all inertia worlds. The non-control transitive,
in contrast, existentially closes the initiating event and foregrounds the culmination and (if there is
one) the incremental change leading up to it. Choice of the non-control transitivizer over the control
transitivizer implies that the action of the subject does not bring about the culmination in a
prototypical way, while choice of the control transitivizer implies that the subject is agentive and
‘in control’ of the situation. These implicatures are easily overridden by context and never take
precedence over the aspectual contribution of the transitivizers.

In (37a-b), for instance, it does not matter how likely the agent is to have control over the
outcome: because the focus is on the culmination — whether the target was hit — the non-control
transitivizer is used. The non-control transitivizer is also typically used for all kinds of events
accomplished in the course of daily life where the event has culminated (37c).

(37) The non-control transitivizer and agent control

a. Context: At a shooting range, a sharpshooter hit the bullseye easily with one shot. For
anyone else, it would have been really difficult. | tell you afterwards:

hehew  ?aje?aq. yeqatuxvos to bullseye.

hihiw  ?aja?aq yagat-o-x“-as to=bullseye

really  sharp.shooter hit.target-NCTR-30BJ-3ERG  DET=bullseye

‘He’s a sharpshooter. He hit the bullseye dead on.’ (vf| EP.2021/05/09)

8 Under the denotation we’ve proposed, the relationship between the subject’s participation and culminating
event may be too loose, predicting use of non-control predicates in contexts where they do not actually occur.
A certain amount of indirectness between action of the subject and the outcome is definitely allowed,
however. Breaking something by bumping into the table where it is sitting can be described with the
following, for instance:

(i) Context: I bump into a table and a delicate glass sitting on it falls off and breaks.

q*ag“ux“on to OewbOeton  ?i yepux“an to l’<’Wasta.
qag-a-x*-an to=0iwbiton ?iy yap-o-x“-an to=kvasta
bump-NCTR-30BJ-1SG.ERG  DET=table = CONJ  break-NCTR-30BJ-1SG.ERG  DET=cup
‘I accidentally bumped into the table and broke the glass.’ (vf | EP.2021/07/06)

We suspect there are limits on how indirect this relationship can be, though we have not fully tested the limits
of this. One way to constrain the relationship between the action of the subject and the caused event might
be to introduce an incremental relation linking the ‘doing’ of the agent with the gradual bringing about of the
caused event (following Rothstein 2004 for accomplishments). We leave this for further research.
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b.  Context: My friend is learning to shoot better and practices at the shooting range.
Today for the first time he manages to hit the bullseye on his first try.
yvet 20t yeqatuxas.
yvit=?ut yaqal-o-x¥-as
really=EXCL hit.target-NCTR-30BJ-3ERG
‘He hit it right dead on.’ (vf| EP.2021/05/09)

C. Context: You and | went to see a boat, and then | bought it. Today | went to get it, and
then 1 tell you:
ckva ma?rax“on Se nux“d.
¢=kva ma?-o-x¥-an So=noxil
1SG.SBJ=CLDEM  get-NCTR-30BJ-1SG.ERG  DET=boat
‘I went and got the boat.’ (vf| EP.2021/07/10)

Similarly, in order to describe a non-culminating event, one must use a control transitivizer rather
than the non-control transitivizer, even though these cases typically involve an agent that is not ‘in
control’ of the event, as shown in Section 3 above.

The denotations for the control transitivizer and non-control transitivizer above predict their
behaviour in combination with cigitom ‘almost’ and negation. In the denotation for the control
transitivizer, only the initiation of the event is entailed, meaning only this initiating event is
available for further modification. We therefore expect this aspect of the event to be targeted by
other at-issue semantic content, such as adverbs and negation. cigitom is therefore predicted to give
rise to an ‘almost initiated’ reading, while negation will specifically deny the occurrence of the
initiating event with its subject participant, giving rise to readings where the subject decided not to
undertake it. The denotation for the non-control transitivizer, in contrast, backgrounds the
participation of the agent, but allows the event described by the unaccusative predicate it combines
with to be modified. If the unaccusative predicate involves a change-of-state with an incremental
process, this entire event will be targeted by other semantic operators such as negation. For this
reason, negation and cigitom typically give rise to event cancellation readings rather than cancelling
only the final moment of transition.

The reading that arises with adverbs of rate is likewise unsurprising with non-control
transitives. As predicted by our analysis, the event described by the unaccusative predicate is
modified, but not the participation of the agent. When the non-control transitivizer combines with
unaccusative predicates involving a change of state, as in (29-30), repeated here as (38-39), the
entire change-of-state is asserted to happen slowly or quickly, but whether the subject is acting
quickly is irrelevant.

(38) X Context 1: There was a leak under my sink. The man who came to fix it worked quickly, but
the problem was complicated, and it took a while for him to finish.
N4 Context 2: There was a leak under my sink. The man who came to fix it was rather slow,
but the problem was simple, and the job was still quickly over.

a. Aemot pape?-ux*as.
Xi-mut papi?-o-x+-as
quickly-INT  fix-NCTR-30BJ-3ERG
‘He fixed it quickly.’ (sf| BW.2020/10/01)
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b. 7;smot papetas.

Ai-mut papi-t-os
quickly-INT  fix-CTR-3ERG
‘He fixed it quickly.’ (sf| BW.2020/10/01)

(39) X Context 1: The mouse ate quickly, but it was a big cake, so it took the mouse a while to
finish it.
v Context 2: Roger eats rather slowly, but it was just a small cupcake that he was eating, and
it was gone quickly.

a. Aemot mok“¥oxVos kiks.

Ai-mut mok¥-9-x"-0s kiks

quickly-INT  eat-NCTR-30BJ-3ERG cake

‘He ate the cake quickly. (sf | BW.2020/10/01)
b. ZAemot mok*tos kiks.

Al-mut mok¥-t-0s kiks

quickly-INT eat-CTR-30BJ-3ERG  cake

‘He ate the cake quickly. (sf | BW.2020/10/01)

The reading that arises with adverbs of rate with the control transitivizer is not straightforwardly
predicted by our analysis. Here, we expect adverbs of rate to modify the participation of the agent
— the ‘doing’ of the event — but examples (38-39) suggest that it is still the entire change-of-state
including culmination that is targeted. Another possible interpretation is that the ‘doing’ of the
event counts as quick if it takes a short amount of time, even if the motion of the subject is slow —
and it counts as slow if it takes a long time, even if the motion of the subject is quick. This would
give rise to the results above without requiring access to event culmination with the control
transitives. Fully disentangling the interpretation of adverbs of rate will require further investigation
beyond the scope of the present paper, however. We hope to undertake this in future fieldwork.

9 Interpretation and compatibility with viewpoint aspect

While up to this point, we have been focused on initial and final points within the events described
by control and non-control transitive predicates, we now turn our attention to the compatibility and
interpretation of the two transitivizers with viewpoint aspect. Since we have analyzed the
transitivizers with a focus on aspectual differences, we might expect the two transitivizers to behave
differently in combination with other morphemes contributing temporal meaning, in particular
viewpoint aspect with which control and non-control predicates combine directly. This is the case;
the control and non-control transitivizers contrast with each other in both compatibility and
interpretation with progressive aspect. The interpretation of the control transitivizer with the
perfective also exhibits important contrasts with parallel combinations in St’at’imcets and
Skwxwua7mesh.

Pay?ajubom has a null perfective aspect which alternates with C; reduplication that marks
progressive aspect. Both control transitives and non-control transitives appear in the perfective, but
non-control transitives are quite restricted with respect to the progressive. This restriction is
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discussed at some length in Watanabe (2003:206-208), and we have replicated these findings in
our own fieldwork (40-41).°

(40) * 1:<11’<p,0xwan.
ko~kp-o-x¥-an
PROG~CUt-NCTR-30BJ-1SG.ERG
‘I’m cutting it.’ (sf| EP.2021/07/10, FL&HT.2021/07/05)

(41) *jujubux“en.
ju~juB-o-x¥-an
PROG~PUSh-NCTR-30BJ-1SG.ERG
‘I’m pushing it.’ (sf| EP.2021/07/10)

In contrast, control transitives co-occur standardly with progressive aspect (42—-43).

(42) l:ql’(p’tésn.
ko~kp-t=¢an
PROG~CUt-CTR=1SG.SBJ
‘I’'m cutting it.’ (vf | EP.2021/07/10)

(43) jujubotc.
ju~jud-ut=¢
PROG~pUSh-CTR=1SG.SBJ
‘I’m pushing it.’ (vf| EP.2021/07/10)

Bare roots — on which both types of transitives are built — also combine quite freely with the
progressive (44-45), so the restriction on the combination of the progressive and non-control
transitivizer must arise from the non-control transitivizer itself.

(44) qoji &y,
Qoji  &o~ex
still  PROG~cook
‘It’s still cooking.” (cf. 5, 14) (vf| FL.2018/10/17)

(45) jejexv to pato.
ja~jaxv to=poto
PROG~melt DET=butter
‘The butter is melting.” (repeated from (2b)) (vf | EP.2018/09/10)

Though progressive non-control transitives are clearly marked in comparison to progressive
control transitives, the combination of the non-control and progressive is occasionally accepted, as

% Non-control transitives frequently have ergative suffixes to realize subject agreement rather than indicative
subject clitics (see also Watanabe 2003:218, fn. 186); either type of subject agreement is possible, and they
can even co-occur if there is a pre-predicative element to host the indicative clitic. Ergative suffixes are
otherwise restricted to object-centered relative clauses, so it is not clear why they occur on non-control
transitives.
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discussed in Watanabe (2003:208-211), and also replicated in our own fieldwork (46-48). Where
accepted, these predicates are often associated with difficulty achieving the culmination of the
event (46-47), but sometimes just place the focus on the final change-of-state (48).

(46) tatayqux“on I;Waxwa.m
ta~tayg-o-x"-an kvax“a
PROG~MOVe-NCTR-30BJ-1SG.ERG  hox
‘I moved the box slowly, having difficulty.” (translation volunteered)
(sf | FL&HT.2021/07/05)

(47) jujuboxvon.
ju~jue-ax*-an
PROG~PUSh-NCTR-30BJ-1SG.ERG
‘I’'m pushing it.’ (sf | FL&HT.2021/07/05)
Consultant’s comment: “You re making it move a little at a time... struggling with it.”

(48) hohojuxvan.
hu~huj-o-x*-an
PROG~finish-NCTR-30BJ-1ERG
‘I’'m finishing it.’ (sf | EP.2021/07/10, FL&HT.2021/07/05)

The fact that the non-control transitives entail culmination does not automatically predict their
incompatibility with the progressive. After all, English accomplishments also entail culmination
when not progressive (49a), yet standardly are compatible with progressive aspect (49b) (e.g.,
Dowty 1979).

(49) a. #Iate acookie, but I didn’t finish it.
b. | was eating a cookie.

One possible direction would be an analysis positing that the non-control transitivizer creates a
punctual event from the root it combines with. The resulting predicates would be restricted from
combining with the progressive because they do not have duration, as English achievements are
(e.g., #1 was/am finding my glasses.). The occasional co-occurrence of the non-control transitivizer
with the progressive would then have to be explained through coercion. Non-control transitives are
compatible with adverbs of rate, however, (50), also (29/38, 30/39) above.

(50) hahays gaqux“os to 2emen.
hahays gog-o-xv-as to=2imin
slowly open-NCTR-30BJ-3ERG  DET=door
‘He slowly managed to get the door open.’ (sf | BW.2020/07/01)

10 This same form was rejected by another speaker: there seems to be interspeaker variation in terms of which
of these are possible, possibly reflecting how easily speakers are able to recover a context in which the form
could be used.

. This same form was also rejected by another speaker, as shown above in (41).
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The acceptability of these examples is not predicted if they describe a punctual event. He blinked
quickly/slowly or he knocked quickly/slowly, for instance, are generally only possible if the event
is repeated. The adverbs cannot easily describe the actual eye-shutting action as quick or slow, nor
the action of a single knock. Other events are more coercible: | found my glasses quickly, but often
only in one direction: #1 found my glasses slowly. Though this still requires further investigation,
we have not found similar restrictions on adverbs of rate with non-control transitives, so we do not
pursue this approach for the analysis of the non-control transitivizer.

Instead, we maintain the analysis of the non-control transitivizer that was proposed in the
preceding section (36), restated in (51). Taking this as our starting point, we can examine what
happens when the progressive combines with a non-control transitive.

(51) [NCTR] = Af € Dy (sty)- Ax. Ae. Aw. Je’' [DO(e")(x) A f(e)(w) Ae' causese inw]

For simplicity, we focus only on the temporal component of the meaning of the progressive, which
places the reference time within the interval during which the event unfolds (the temporal trace of
the event 7(e)): 7(e) < t.*? Since the unsaturated event argument in (51) is the event described by
the unaccusative predicate, the reference time will be placed within the unfolding of this event. The
progressive does not target the ‘doing’ event involving the subject as its participant. An example
such as (52), then, will get roughly the interpretation as in (53) where the reference time t is placed
within the unaccusative ‘getting finished’ event.'3

(52) hohojuxvan.
hu~huj-o-x*-an
PROG~finish-NCTR-30BJ-1ERG
‘I’m finishing it.’ (sf | EP.2021/07/10, FL&HT.2021/07/05)

(53) a. [hojux*an] = de. Aw.3e’ [DO(e")(I) A get. finished(it)(e)(w) A e’ causes e in w]
b. [PROG] ([hojux*an]) = Ae. At. Aw.3e’ [DO(e")(I) A get. finished(it)(e)(w) A
t c1(e) Ae' causes einw]

We propose that placing the reference time within the ‘getting finished’ event, rather than within
the ‘doing’ event that involves the external argument gives rise to an implicature that the
participation of the subject does not straightforwardly result in the culmination of the event, often
giving rise to readings where difficulty is involved.** We take the contexts supporting the use of

12 \We abstract away from the possible world semantics of the progressive, which has been widely adopted
since Dowty (1979).
13 The denotation in (53b) is obviously an oversimplification since it would require the progressive event to

culminate in the actual world, but there is always a possibility that an in-progress event will not reach
culmination.

14'1f a more standard version of the progressive is adopted, such as (i), adapted from Dowty (1979), another
problem emerges for the combination of the progressive with a non-control transitive.

(i) [PROG] = Af€ D). he . At Aw . VW' [w' is an inertia world w.r.t. w at the beginning of e —
3e’ [f(e)(W') At St(e)]] (adapted from Dowty 1979:149)
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progressive non-control transitives to be unusual contexts, however: when speaking of ongoing
actions involving a subject participant, the participation of the subject in the ongoing event is
generally important. Typically, if the participation of the subject is really unimportant for the
conversation, a passive or bare unaccusative should be used instead. This makes the use of the
progressive with the non-control transitivizer marginal.

This reading contrasts with the contribution of the control transitive in combination with the
progressive, which gives rise to a more canonical event-in-progress reading where the ongoing
participation of the agent is directly tied to the progress of the event. When a predicate with the
control transitivizer is combined with the progressive, it is the process — involving participation
by the agent — that is made ongoing, since it is the process portion of the event that is unsaturated.
The denotation for the control transitivizer is repeated from (35) as (54).

(54) [CTR] = Af € Dy sty)- Ax - Ae [DO(e)(x) (W) A vw'[w' is an inertia world

w.r.t w at the beginningof e — 3e’ [f(e")(W") A e causes e’ inw']]]
(I = events; Intensional Functional Application is used)

When combined with a predicate taking the control transitivizer, the progressive places the
reference time t within the ‘doing” event e initiated by the subject. This is illustrated for (55),
repeated from (42), in (56b).

(55) qul’{p’tésn.
ko~kp-t=¢an
PROG~CUt-CTR=1SG.SBJ
‘I’'m cutting it.’ (vf| EP.2021/07/10)

(56) a. [kiptéen] = de . Aw[DO(e)()(w) A YW'[W' is an inertia world w.r.t.w at the
beginning of e — [3e’ [get.cut(e)(W') A e causes e’ inw']]]]
b.  [PROG]([kiptcen]) = Ae . At .Aw[DO(e)()(w) A T(e) Ct A
vw'[w' is an inertia world w.r.t.w at the beginning of e —
Je' [get.cut(e)(W") A e causese’ inw']]]

Since both transitivizers are available with most predicates, progressives built on control transitives
are generally preferred. The competition between the control and non-control forms likely also
contributes to the ‘difficulty’ readings associated with the non-control transitivizer.

Before closing this section, we turn attention to the combination of control transitives with
perfective aspect. While the combination of the perfective with the control transitivizer looks
unremarkable, it gives rise to certain readings that are not found with English perfective
accomplishments, nor with its perfective counterparts in St’at’imcets and Skwxwu7mesh. It can be
used with a future translation when the subject is just beginning the action described by the

While combining a non-control transitive with the progressive in (i) would correctly place the reference time
with the unfolding of the event described by the unaccusative predicate, it would also displace the activity of
the agent into inertia worlds, which seems to be on the wrong track since this should allow the agent to not
participate in the event at all. While we haven’t tested whether this is possible explicitly, it doesn’t match the
readings we have found. It is beyond the scope of this paper to resolve the issue, however. We hope to take
this up in future research.
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predicate (57, 58a). These are not true future uses, however, since they cannot describe a future
event that is not yet initiated (57, 58b). Rather, they describe the event in the moments of initiation.

(57) v Context: You see me sitting down at a table that has a pile of roots on it and ask: tatam¢x™
‘What are you doing?’ | reply:
X Context: We were at an event together, and you ask me what I'll do when I go home:
tamsom k*u0 ye0ot tin kvutayiton? | tell you:

Su?oté tot® kva?amnac.

Sow-ut=¢ to=t®=kva?amnad

Sort-CTR=1sG.SBJ  DET=1SG.POSS=root

‘I’m gonna sort my roots.’ (sf| EP.2021/07/10)

(58) a. Context: My friend sees me starting to move about in my kitchen and asks: tatam¢éx»
‘What are you doing?’ I tell her that I'm going to cook the fish that’s thawing in the

sink.
Ceyatc to jenx™.
cox-at=C to=janx¥

COOK-CTR=1SG.ERG  DET=fish
‘I’m going to cook the fish.’
Consultant’s comment: “You 're already hands on prepping the fish. ”
(vf| EP.2021/07/16)
b. Context: | have a plan for dinner since someone gave me a fish.

# CeyatC to jenx snanat.
ox-at=¢ to=janx¥  S=nanat
COOK-CTR=1SG.ERG DET=fish  NMLz=evening
‘I’'m going to cook the fish tonight.’ (sf | EP.2021/06/19)

Future events require the use of the future clitic sam (which is combined with the first person
singular subject to become #%m), as shown in (59) and (60).

(59) Context: We were at an event together and you ask me what I'll do when I go home: tamsam
kvu0 ye0ot tin kvotayiton? | tell you:

Su?ott®om tot® k¥a?amnac.

Sow-ut=tam to=t=kva?amnac

SOrt-CTR=1SG.SBJ+FUT DET=1SG.POSS=root

‘I’m sorting my roots.’ (vf| EP.2021/07/10)
(60) Context: | have a plan for dinner since someone gave me a fish.

ésxatteam to jenxV  snanat.

&ox-at=tom to=janx* s=nanat

COOK-CTR=1SG.SBJ+FUT DET=fish NMLz=evening

‘I’'m going to cook the fish tonight.’ (sf | EP.2021/06/19)

Perfective control transitives also lack one of the readings available to their counterparts in
St’at’imcets (61) and Skwxwu7mesh (62): an ongoing action reading.
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(61) g’wel-en-lhkan  ta ts’i7-a, t'u7 cw7aoy t'u7 Kkw-s q’wel-s
co0k-TR-1SG.SBJ DET deer-DET but NEG still DET-NMLZ cook-3POss
‘I am cooking deer meat, but it isn’t done yet.”  (St’at’imcets | Bar-el et al. 2005:5, ex. 20)

(62) na mikw’-int-as ta Ihxenptn lTha Mary 7i na7-xw wa mikw’-int-as.
RL wash-TR-3ERG DET floor DET Mary PART RL-still IPFv wash-TR-3ERG
‘Mary is washing the floor and she’s still washing it.’
(Skwxwua7mesh | Bar-el et al. 2005:5, ex. 22)

The ?ay?ajubom control transitive forms cannot be used with an ongoing action reading. The
progressive form must be used instead, as in (63b) and (64b).

(63) Context: I’'m sitting at a table sorting my roots and you ask me: tatam¢éx“? ‘What are you
doing?’ I reply:

a. # su?otc tot® kva?amnac.

Sow-ut=¢ to=t'=kva?amnac

Sort-CTR=1SG.SBJ DET=1SG.POSS=roots

‘I’m sorting my roots.’ (Pay?ajubom | sf | EP.2021/07/10)
b. Si18?0t¢ tot? kva?amnag.

So~Sw-ut=¢ to=t=kva?amnac

PROG~SOrt-CTR=1SG.SBJ DET=1SG.POSS=root

‘I’m sorting my roots.’ (?ay?ajubam | vf | EP.2021/07/10)

(64) Context: I'm about halfway through cooking a fish for dinner. My friend drops in and asks
me tatamcx%? ‘What are you doing?’ I tell her I'm cooking a fish.
a. # ésxaté to jenx™.
éax-atIé to=janx¥
get.cooked-CTR=1SG.sBJ DET=fish
‘I'm cooking a fish.’

b. &idyatd ta jenxv.
Go~Ex-at=C to=janx¥
PROG~get.cooked-CTR=1SG.SBJ  DET=fish
‘I'm cooking a fish.’ (Pay?ajubom | sf | EP.2021/07/16)

We propose that the contrast in the readings available for perfective control transitives in
Pay?ajubom and their counterparts in St’at’imcets and Skwxwua7mesh do not arise due to a
difference in the meaning of the control transitivizer itself, but rather due to a difference between
the interpretation of perfective aspect in these languages. Perfective activities in St’at’imcets (65)
and Skwxwu7mesh (66) can also be interpreted as ongoing at the utterance time, whereas this is
not possible in ?ay?ajubom (67); the progressive must be used instead.

(65) it’-em-lhkan.

sing-MD -1SG.SBJ
‘I sang. / I am singing.’ (St’at’imcets | Bar-el et al. 2005:3, ex. 7a)
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(66) chen 7imesh.

1sG.sBJ walk

‘I walked. / ‘I’m walking.’ (Skwxwua7mesh | Bar-el et al. 2005:3, ex. 8a)
(67) Context: Talking about our consultant’s cat.

k ot gi Patlik!  {#?elton / ?e?elton}.

kvo-t=gi Patlik  {#?ilton / ?i~?ilton}

see-CTR=DPRT Patlik  {eat/PROG~eat}

‘Look at Patrick. He’s eating.’ (Pay?ajubom | (sf | JF.2019/06)

We assume a semantics for the perfective where the perfective places the time of the event (the
temporal trace of the event t(e)) within the reference time t: 7(e) < t. We propose that in
?ay?ajubom, the reference time is confined to the ‘instantaneous present’ when overlapping the
utterance time — it places the event within the interval of making the utterance itself. Most events
are too long to fit into this interval and so cannot be interpreted as present in the perfective aspect.
English also shows this restriction, while St’at’imcets and Skwxwa7mesh do not, allowing the
perfective to pick out a longer interval, even when overlapping the utterance time. It is beyond the
scope of the present paper to speculate as to why the languages differ in this way.

10 Conclusion

In this paper, we have examined two transitivizers in opposition in ?ay?ajufom: the control
transitivizer and the non-control transitivizer. In line with previous literature on ?ay?ajubam (e.g.,
J. Davis 1978; Watanabe 2003) and other Salish languages (e.g., Bar-el 2005; Bar-el et al. 2005;
Kiyota 2008; Jacobs 2011) we argued that predicates transitivized with the control transitivizer do
not entail culmination, while predicates transitivized with the non-control transitivizer do (e.g.,
Watanabe 2003 for ?ay?ajubom; Bar-el 2005, Jacobs 2011 for Skwxwa7mesh).

We presented a number of tests adopted from Bar-el (2005) which had not been previously
applied in ?ay?ajubom. These tests also allowed us to gain more fine-grained information about the
event structure of the two types of predicates. We find that adverbs and negation target event
initiation with control transitives. For non-control transitives, these target the culmination plus any
preceding incremental change-of-state, but not the initiation of the event. We propose an analysis
of the control transitivizer following Bar-el (2005) and Bar-el et al. (2005) where control transitives
encode that the external argument initiates the event, but it comes to completion only in all inertia
worlds. For the non-control transitivizer, we proposed that the process part of the event initiated by
the external argument is backgrounded (through existential closure) while the culmination and any
incremental process leading up to it is entailed. We then discussed how the implicatures of
agentivity arise for the control transitivizer and the implicature of difficulty or lack of intention
arise for the non-control transitivizer. We proposed that these readings arise through pragmatics in
part due to the opposition between these two forms. Finally, we probed the distribution and
interpretation of the two transitivizers in combination with viewpoint aspect and suggested how
our proposal for the semantics of the non-control transitivizer could give rise to its restricted
distribution with the progressive.

In future work, we hope to provide a more thorough investigation of adverbial modification of
control and non-control transitives, as well as a more detailed analysis of the interaction between
the control and non-control transitivizers and viewpoint aspect. The nature of the pragmatics
involved in the implicatures that arise with the two transitivizers also merits further attention. The
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two transitivizers are not in competition in terms of their informativeness, since both contribute
their own unique semantics to the derivation, so the implicatures cannot be arising as
straightforward conversational implicatures of quantity (e.g., Grice 1975). We have not yet
proposed any concrete mechanisms by which these implicatures would arise, however; this still
clearly requires further investigation.

There is a deeper question underlying this work concerning why event initiation should be
associated with agentivity, while event culmination is associated with non-agentivity — a pattern
found cross-linguistically, not only in Salish languages (e.g., Martin & Schéfer 2014; Demirdache
& Martin 2015). Fully exploring this connection is far beyond the scope of this paper, but we hope
that the findings here will provide some empirical basis for further investigation of this topic.
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